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2023
COMMERCE

(Honours Core)
Paper : COM-HC-5016
( Principles of Marketing)
" Full Marks : 80
Time : Three hoﬁrs_
The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamesé.

1. Answer the following as directed :
1x10=10

. ReRIIE e Ses i ¢

(i) The startlng point of any marketmg
activity is the

R TR PR aRel [ TR
(@ human needs and wants

Y IR ARl i SeR
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(i

(i)

(b) basic human needs
WS Gl eeerRe!

(c) biological cond1t1on of human
beings

e m e
(d) All of the above
@9 BRI

(Choose the ,éorr,ect answer)

(o% Geh! AR Claeay)

Who is the father of modern
marketing ? e

ST TR iy (o e

Which of the following is a threat posed
by marketing environment in India ?

SRS IR0 SR T[T AR Q1
Bea [ O

(a) Curtailment of and disinvestments
in Public sector-

m%sﬁﬁmﬁwvwﬁﬁﬁmw

(b) Liberalisation of Industrial
licensing - ’

ST SR S
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(iv)

(v)

(c) Survival of the fittest rule
wioiReLe Tige TR R [
d) Removal of subsidies
IS ReR
(Choose the correct- answer)
(9% ©ehr AR Cleved)

Which of the -following is useful for
marketing segmentation ?

FERRS IRD! IR LRI A S 2
(a) Prospects identification

(b) To know the customer s tasts and
preferences

AT IR S SRR SRR
(c) To target current clients
AR ArTs 7w [ IR
(d) All of the above
82T IR |
' (Choose the correct answer)
(% Geo! oI PR Cled)

Which one of the following is not an
element of demographic segmentation ?
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R (@INCH! TReAfeTe Rerama Soimia 727 2
(@) Family size (SRR SIPR)

(b) Population density (TPRYF T9)
(c) Income Ge))

(d) Religion () |
‘Assam Tea’ stands for positioning.
o o1z 9 9 (AR ST |
(Quality/ Geographical area)

qAReT/ (ST (P

i I ct alternative)
i1l in the blank with corre
& (=% w5 AT 312 93 )

‘Mobile Handset’ is. an example of
i ds.
perishable goo
CIRIZE PR A5 AR SRR |
(Write True or False)
st @ fw {)

Which one of the following brands
owned and developed by producers ?

GRS CPRT! ‘@0’ BeslrAPIT TR
oiw Refe?

(@) Individual brands (M26R1 @)
(b) Family brands (IRARE @e)
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(ix)

b7}

() Manufacturers brands (Rffeg
RSTR)
(d) None of these (URRRT oIS 7ZF)
(Choose the correct answer)

(% CeIehr MR Glevsqy)

At maturity stage sales continue to
increase at an increasing rate.

ARFOR ~Ifime R 3% 3o g7 oz Qe |

~ (Write True or False)

| (5% @ qo5 )

Promotion mix is an importanty element
of .

e R tam 3 oyl i
(@) Sales promotion (Rery Te3d)

(b) Marketing mix (IETII fleep)

(c) Personal selling (IJf&® Rerae)
(d) All of the above ('¢%33 HHIREAR)

(Fill in the blank with appropriate
altemative)

(C=3& Remeg AT A2 %399 71)
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2.

Answer the following questions : 2x5=10
o ePRIRT Te Tl o |

() State two distinctions between
marketing and selling.

TR O R MerS <0t 757 s
T {1 S

(i) What is product positioning? -
T SR e ”
(iii) What is product line ?
Teol T3y I e
(iv) What is personal selling ?
It Reraesd e
(v) What is advertising agency ?

R=ifresse wn”mm &2

Answer any four of the following :5x4=20
oo AR Rewizar s1foiT ©ex faat ¢

(i) Importance of product as a component
of marketing mix.

W‘TW@WQ&@W@WI

(i) Advantages of product branding,
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(iii) Reasons of product failure.

Bes TN JLOR FRPFR |

(iv) Advantages and disadvantages of
E-tailing. ’
E-tailing? R4l W% TIRIFRR|

(v) Merits and demerits of product
diversification.

Beoln T ITAFR AR WF TREPAR |
(vi) Essential elements of good branding.

TS SROTSRIFR SPTRR BAMARIT |

Answer the questions from the following :

(any four) 10x4=40

o emiAleE Bes Tt ¢ (Reereat o1f¥6D)

(@) Outline the major functions of marketing,.
TR T IR Foleedl e |

(b) Discuss about growth and future of
marketing in India.

SReTs TR R i SRS e
HITADA ¥ |
(c) Explain the consumer’s buying decision
process.
BolreIe SR P a7 IR R0l
1
Contd.
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(d) Define market segmentation and
discuss its importance for a firm,
TR ST @ A o Qe ewn
G| T R |

(e) Describe the role and importance of
pricing.

EARESEARIAER R S Tt A

() Explain the various pricing policies
available to a firm in taking its pricing
decision.
<ot &S v e s i 21 Soferes
ffen v R Mg gt =11

(9) Explain the various methods to
measure the advertising effectiveness.

Refresat el @i Ride -y
YT 10|
(h) Discuss the various factors which affect

promotion mix decision of an
organisation. ~

«or 2SR Tevt F P oz &)
mw%mﬁmwmwwu
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SITTE". ) 7. IRTETT
COMMERCE -~
(Honours Core) . .
Paper : COM- I_-I‘C‘-.v50.2,6v |
( Fundamentals of Financial Managemgnt )
"Full Marks : 70 -
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.'

1. Choose the right answers : ' 1x10=10

o5 Ben! AR OfFed ¢

] Which of the followmg is a part of
financial decision making ?

e @) R e R oo ?
(a) Financing decision

e Pas
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(b) Dividend decision | (i) Which of the following is also known as
long-term investment decision ?

oot B
(c)] Investment decision e mﬁ%ﬁ]ﬂﬁﬁmﬂﬁmﬁmﬁ@
R s it
' (d) All of the above (a) Dividend decision
| @R FRCEANER STeficd Praie
() Which of the following represents the (b} Wgriinpeapiiay
capital structure of a company ? PRI oA
HINE (PG @I GBR Tegm e (c) Capital budgeting decision
fefag w32 e
(prDsbiandicquinies l ‘ (d) All of the above
el I A1 @9 SR
®) Eq"}ities and preference share (iv) Current assets are twice the current
i liabilities. If the working capital is
TR AN eI i T Rs.2,00,000, current assets would be :
(c) All assets shere Trife slre omia fawd |5 PG L
FPCAICIR Fife 2,00,000 531 T, e T AR 22
(d) All liabilities (@) Rs.2,00,000
TR Gl () Rs.4,00,000
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V)

(vi)

(c) Rs.3,00,000
(d) Rs.1,00,000

The capitalisation of profit is termed as :

Seq JEHITAC =M (FIFI 2 8
(a) Stock dividend
5 TN
(b) Cash dividend
w5 STegIR*
(c) Property dividend
F=f@ wTegRE
(d) Bond dividend
TS eofIRH

Investment decisions are outside the
purview of financial decisions.

e PraeTr [er ey «Rfi
Ao |
(a) True

A

bl
(b) False

far
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(vii) Increased use of debt increases the
financial risk of equity shareholders.

Yo A IR T SR R
3% i T |

(a) True

)

5l

(b) False
=

(viii) Capital budgeting decisions are
generally of irreversible nature.

T AT FATE AL S RTEA T ephed |

(@) True

o

5
(b) False

i

(ix) The rate of return on investment falls
with the shortage of working capital.

PRI T SR 0! T R ETeS
R AT

(@) True

&

351
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2.

(b) False
=

(x) Profitability index is also known as

benefit/cost ratio.
oS PFIPE a1 /AW AT q\ﬁ'{\fa @3l
271
(a) True
ot
(b) False

i

Answer the following questions in about 50
words each : 2x5=10
fraIe ePTR AfStoiR ©ed 50 Bf 7 = foese
forai ¢

(@) What is financial management ?

SN SeEw I Q@IeT?
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(b) What is leverage ?
TTeIEs 1% @ie 2

(c) What are the various methods of capital
budgeting decisions ?

e s B Riow oafoonz & f?
(d) What is dividend ?

STofIRH FIF (T 2
(e) What is permanent working capital ?

B PROF T4 IS (A 2

Answer the following questions within 150-

200 words each : (any four) 5x4=20

RmIe e AfStoR Bed 150-200 B foese
vt 3 (Rizeeieant 1901

(a) State the nature of financial

management.
R8N 2RolEmR 2 396 |
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(b) Explain the significance of cost of capital
oI R I 0 3|

(c) Explain the significance and limitations
of financial leverage.

e Frenes viesd i Waﬂm

<4l _

(d) Explain the capital budgeting process.
ETL S 2l I 1 |

(e) DisFinguish between gross working
capital and net working capital.

o PRI A SE ST PRI L AErS
A1 (TS |

(/) Explain the various forms of dividend.
ffen ew1RT sTeicis e i e |
4. Answer the following questions withi
t =
600 words each : 5,500

AeEe ez i ©eT 500-60
foege fordl 8 P

(@) Discuss the scope and objectives of

financial management. 10
411
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(b)

(c)
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Or / 941

Describe the determinants of capital

structure of a firm.
51 elfSia e STofe fefReopR < 3

State the various factors determining the

dividend policy of a company. 10
R B e Roeer M et
SRS A 3 0

Or / 924!

State the various factors determining the

working capital requirements of a firm.
51 DR PR T FE eI PR
e 39 =0

Discuss the traditional methods of
capital budgeting decision. 10
TELA QD PRI AT AGSTIZ
S 0
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or / el

ABC company is considering to purchase
one of the following two machines, the

details of which are given below :

ABC 'mmﬁm@@tmwm

Bt (fow R g icet, (b 7BIR Rl wete
faizas |
Year Cash inflow (Rs.) Discount
Machine X Machine Y - factor
| @10%
1st 3,00,000 1,00,000 0.909
ond | 400000 | 300000 0.826
3rd 5,00,000 4,00,000 0.751
4th 3,00,000 6,00,000 0.683
5th 2,00,000 4,00,000 0.621

Cost of Machine X and Machine Y is

Rs.10,00,000 each.

oA X &I GIfb Y JEibics eifethi swp 2
10,00,000 5 |
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Calculate Net Present Value and

. Profitability Index.

zaﬂszmﬁmwq?uwma=amawa¢wnzwawawsmnr

F41 E
7+3=10
13000
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